"IA'-|~ *D 6 f‘i J_E._ 2 H 'fi— $ % 7:]._‘5 ie WHERAREHILMEARFER R7.1.9 RBE

= 53 &
B % [ B - E3 1‘ 2‘ 3‘ 4‘ 5‘ 6
£ . &
1 T 2 X
3
T
2 =] 2 X
3
AR (PR = (D) 15:20-16:40 T T 7 7 5
3 A 211 2 3 7 5 x o)
HREFZRFBEB(~128) T ANTEESFILE(~138) 3 1 2 3 3 5
3RS T T 7 3 7 5 (3
4 X Z T Z 3 4 5 [ o)
NI BRI BAR 31 2 3 4 5 3
KB T T 7 3 7 5 3
5 % 2 1 2 3 Z 5 3 o
ERER A 31 2 3 1 5 6
KBF R (8B ah(2) 15:55-16:40 T T 7 3 7 5 3
6 K |SFAEMKEE (ORI HEE) 2 1 2 3 4 5 6 e}
ICT %48 31 2 3 7 5 ®
T 1 7 3 T g g
7 & 21 1 7 3 ] B® ® o
2FHERRFE (5-61%FF) 3 1 2 3 4 Ab A6
& TR T HZ H3 HZ
8 + 7| AZ A3 L] x
3 A2 A3 A%
T
9 =] 2 X
3
1 = RIK 4
10 B |#EXRTAND 2 ES = ’IE 4 X X @)
ALT (office /Xt 2—) 3 & = wIE 4
T
1 X |BREZZOH 2 X
3
RBRR ALTCA RN T &= g3 £ KB
12 Kk |BERTAN 2l E El [3E3 X6 X x e}
ERHEA 3| E B ES K6
T =] bl S £
13 KX |FEXRTANI 2 # £ i 6 X X O
ALTUI LN 3 = it 6
T T Y 3 4 A5
14 4  |PTARSI—IL(6%EF) 2 1 2 3 7 A5 X @)
ALT (ffi3R/N) 3 1 2 3 4 NS
T
15 + 2 x
3
T
16 B 2 X
3
X AR (EREREITSRR15: 102k 15:30- &%) T T 2 3 7z El
17 B |SST(o%Es: BIE) X1, 2&EDH 2 1 2 3 4 Bl | x O
3 1 2 3 4 5
ESFTES 1 2 3 4 5 3
18 K 2 1 2 3 4 5 6 O
31 2 3 4 5 6
KB T T 7 3 T 5 [
19 7k 2 1 2 3 4 5 6 @)
ERHER A 31 2 3 ] 5 3
T 1 7 3 7 5 5
20 K |BBE3EFHE Re/EHEET B R (61KRE) 2 1 2 3 4 5 6 le)
31 2 3 7 5 3
SE N E R EERE (0 Ok Ba) T T 7 3 T KT K2
21 & X RIFERARKHE 9/ F—EHFHEEHERD 2| 1 2 3 4 K1 K2 o
¥ BERTANRAAY) 31 2 3 4 w
1
22 + 2 x
3
1
23 =] 2;ER 2 x
3
T
24 A |&EEHRB 2 x
3
X AERE(EBEREO® 156:20-) 1 1 2 3 4 5
25 K |HEFEOMEIZELE REEATTI-3/312 21 1 2 3 ) 5 x o
BSCkAR 3 1 2 3 4 5
XBIREF 1 2 3 4 5 6
26 ko |FBREREZEER(15:30-) 2l 1 2 3 4 5 6 e}
ERHRERA 31 2 3 4 5 6
1 1 2 3 4 5 6
27 K |ICTx# 2 1 2 3 4 5 6 le)
B 3P HTMmAHH TN GREIR) 3 1 2 3 4 5 6
1 1 2 3 4 K5 k6
28 & 2 1 2 3 4 K5 k6 O
3 1 2 3 4 K5 | 7k6
ERHIFERIE: FHOREICEHES. HEBKRTHEZ 17:15
&
Z




